

Penthouse in Gzira



Gzira, Sliema and St Julians Surroundings



€691,000

Reference No: 240231047-186

 Total Rooms: **7**

 Floor Area (m²) : **147**

 Bathrooms: **3**

 Bedrooms: **2**

Penthouse - For Sale - Gzira

GZIRA – PENTHOUSE situated on the 6th floor to be served with a lift within a residential block and located close to all amenities. This spacious penthouse comprises an open-plan Kitchen, Living and Dining area, 2 double Bedrooms both with en-suite, a Bathroom, and large front and back Terraces offering ample outdoor space and comfortable living. The property is being sold highly finished, excluding bathrooms and internal doors. Complementing this property is the ownership of the roof and airspace, enjoying open views of Ta' Xbiex and Valletta. For more information contact your preferred RE/MAX consultant.

Features

- ✓ Lift
- ✓ En Suite
- ✓ Skirting
- ✓ Terrace
- ✓ Roof Terrace
- ✓ Kitchen/Dinette
- ✓ Electricity Utility
- ✓ Service Lift
- ✓ Air Space

Rooms

- ✓ Living/Dining : 8.22 x 3.4 m (27.95 m2)
- ✓ Kitchen : 3.45 x 4.1 m (14.14 m2)
- ✓ Double Bedroom : 3.61 x 3.8 m (13.72 m2)
- ✓ Bathroom Ensuite : 1.6 x 2.04 m (3.26 m2)
- ✓ Double Bedroom : 3.61 x 3.8 m (13.72 m2)
- ✓ Bathroom : 2.7 x 2.1 m (5.67 m2)
- ✓ Open Space : 4.25 x 7.2 m (30.6 m2)
- ✓ Open Space : 2.7 x 7.2 m (19.44 m2)
- ✓ Bathroom Ensuite : 1.54 x 3.35 m (5.16 m2)

Gallery





Naima Rekik Caruana

RE/MAX Centerparc - Qormi

M: 77026204

E: nrcaruana@remax.com.mt

T: 27344344

RE/MAX Centerparc - Qormi

Centerparc Complex, First Floor, Triq it-Tigrijiet, Qormi, Malta